c4121—1 Beruncnenue koa¢p¢punuenra Vmst:

Hajigute ko3ppuument.

00) Sx+y=+4 00) SB3x+y=+38
y=5x+4 y=3x+8
1) 8x-6y=18 2) 2x-3y=-21
3) Ox-y=-7 4) Ax -y=-7
5) 8x-y=-1 6) 4x+9y=-81
7) 9x-6y=12 8) _6x-4y=24
9) Ix+y=+2 10) 7x+6y=-6
1) 3x+3y=-3 12) ox+y=+2
13) 9x-y=-6 14) 9x-y=-8
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Brrauciaenue KOB(b(I)I/H_H/IeHTa Nwms: Ka04 K NIpaBUIbHBIM O0TBETAM
Haiigure ko3 uuuent. OTBeTHI
00) _Sx+y=+4 00) 3x+y=+38 7
y=5x+4 y=3x+8 06. 1
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00. /1
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1) 8x-6y=18 2) 2x-3y=-21 ! 6
-6y =-8x + 18 3y =-2x-21 2
y="7x-3 y="7x+7 2 3
9
3 /A
3) 9x-y=-7 4 4x-y=-17 -4
-y =-9x -7 -y=4x-7 4 !
=0x+7 =-4x+7 8
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-y=-8x-1 Oy = -4x - 81 9/
y:8X+1 y:_4/9X_9 7 6
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7) 9x-6y=12 8) _6x-4y=24 7
-6y =-9x + 12 4y =6x + 24 9 1
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9) Ix+y=+2 10) 7x+6y=-6 . 3
y=7x+2 6y =7x-6 WA
7 12. 1
y=7/x-1
9
s 4
1) 3x+3y=-3 12) ox+y=+2 -9/
3y =-3x -3 y=-9x +2 14 !
y=-/x-1
13) 9x-y=-6 14) 9x-y=-8
-y=9x-6 -y=9x-8
y=-9x+6 y=-9x +38
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